202341 MF{ZEA| STARTUPBAY GLOBAL
17| &I 2ESY

AAZA 2HEQHoldAs Hd 2 2 70 538 Ufdleold 2 FAHE
olElE B3 43 AElEYS WEFsu SAS ] 98 €2023@ 2elEdH|o] 224 1
7] 457194 23’ & ey B2 o vigyth

2023 1€ 5
AMAZA 2ELEQ]H| o] AER

= M MAE XY BE 3 2EY SHE0| SR 2 AEEY WE X 84
Xl : MPHEA| STARTUPBAY GLOBAL

(MFEEAK = AﬁllitAI MZHEZE 25, Sef=MAE 35)
Ct 232 4712 108

kel E=:7|°* z|th10

2t AMEOHY - 22Y &S 3Yst= FEH(OH)E Xt
X 72U EJIHENS BRT HATE Lo lo| X|YUHs
X BF 39M|0[8F B, MPZA| HFRL, ALY Q20 LEA| 2L
c SDYUR 2H ~ 2023.01.31.(2H7HX]|
1 2023.02.15.(3) ~ 2023.12.31.(Y)

2kl g (828 =7h

o

X me oA

$
NN
™o

T
I3

- AEFE H|0] = 1| O| K| (www.startupbay.or.kr)

XCMARZE 1. XIEA - 2 NRE7} - 3 SEEIH (RIAER)

2. T3EH
T ¢ H| 11
e SUNLERE 18 312(=) * 23597 Mg
MFE7L 20234 28 29(B) *NEER
S E 7| 2023 28 9(H) *NEER
ELE 20234 28 10¥(3)
UFH 2% 2023 2& 13Y€(F) ~ 2&8 173 *HER / 3G




)

7| @82 WEAPEO| et

At
(=]

20234 2 15%(F) ~ 128 318(

F

s

Al 2O7HE AEA @A et

3. HIEME

—_

—

=)

o
[Lin

I}

o=

7t= LtofXiet §lol A

gy (oa)E At
- Boil 4, 2f=e ZeA|l 7 (Z[TH3E)

—

—

== 9%

x
(A

4X}24
3 224

- MFEAl AFR 2O

OF(OFO] &)

K
oI

ok At

L} xp2H

=
=l

Toi!

kio

J4

ujo

12 E7HAE 20 A

XH o
= O

t&2l

A

100

od
ujJ

12E 2 AHZIY)

IE

- =M E= XM MESe A7

~ 7|E}

r

8

k

jod

X XA H|

Hel

L

e

| x}



5 XL 3! o=y
T e
- MRS X CMHZEA FAO0[H )
- 719 1294 HE (RFVIEY)
- gtz 2 e 2H B X[
2%
383
- IARE 32 (co-working)
- 2o (0= AL Tts)
< Ygeizo|y Z=au>
MAE XY 7|8t HEYT AH, S SUXIA MEfAH =4
MAUTHAE o2 9 4E HEY X|&
- 717 A, BMAIE, AREN, ApEel A e e
- 2t 201 MEYH OfE (HE, ME2A, MF =7 55 §)
- g1 WEY XY 29
EEERL AEEQY Y (ZHFE7|2 e 5te "AETEH| 0" AR E D)
- BER7|Y FEXARAE fIe IRH 2O 0|
- 224 UE XY 29
- FYXA72 "y MPE KNS AE
- MEL|EY MHE HARY 752 Y3 A Z2IY 2
_ A7|EYXIE QI ofFtEn] Z2
- Eg71Y MHIARE) SEXA#
- ER7|Y f3&
- AELEQ CEOZIO| QX MEE 93 YEYZ WA WY S
cqmoy |- RF7IY AEXIES
Nolsx|ga | LF7Iot 7| FEtof et AT 2YtE fot et X|¥E X
2
SEUEE L (& sworg)
X &7 W82 23 ArgA = me2t HEE = AUS
6. W7 3 MM
7t ME8E7 9
=1 HF3T o =]
<1X} HAE> <2X} HAb>
N AI.O'I]:"Q! A‘iX‘lHl-E
UF7|Y 2y & At iz} e
A I‘|H|—JTL47|- L O HT O -
=T s=C (HEZ 1 8tg) 27



224, AEA

OtO| &2

A
=

F

x
o

H0
I

-—

=[]

oju
ujo

o
20
oF
s

X0
Jjo

"7t7|1E (2023H)

Of.

ux".uu = R | 2| L e = N NI B =
=
)
|
H %0 b
KL 1 %0 10 .__A._| — <0
m:._ﬂ T0 K fa <
o[, IR M_m < _, | <k
m_.n_x_._u E Jjo ._A.on_xw -
A1 _ | 20X | <l %0 |70 | = il
o |- K |oT| [ 2| |x0 X0 o 0
e T 0 R —_ Jo|— |3 - .__Auﬂg_ohla -
N |_ |Of[X0]_ K =|or % KO | ™ |- ol | ol |
Ho | oK = |on Aomumo K| = KT [of | D = 4 _.._u_u
Moxf%wﬂgﬁanxéol_@w_ M| 8| %
o (30| " 17 1<) | T ko o ok | B |V T & |
K< oK ol |7 |= 2K |< | RN < | | R | ™
of | of || 28| ™ | of = |7 A RO | | DT Er |
KK | |Z & E| = %o | < &M 30 | ol |z
31 | 31 || < | < < | <o |0 BT | olo | Ki- | Ki- | oF | B | &7 | =
KIKKINNINIK|B|RK|HGI|T X | T | x| A
ol e N N A R BB R R R
— |- |||t n]o|lojo| D | KX
70
w0 | ®o K L
0
ol 8 | & | 0 | 0 ﬂxnrw_ < .
W %ol Er | W R gy | & -
S~ - R S U ~ o Ko
Nl o | an 3 n K
o < ™
~— (@V] m <t LN O

A3 7

ol B

ol

JoO

IH

O

: 50% O|& 28X

=&

o
- T

7. M8R2 2| F

NEHE,

Hote

Ad o 728 =000 ot, '

&

7h, 2~EFEH[O] GLOBAL &

L, ME{OjA Tg3le mgm21

orLt.

Of
Ct. AR A

C
=3

|
—

Mol Al
71 108U HE oy|

=
2|

b L1041(23.03.31) A

ot 7|

e
o

t0] THA|

ol
=

ct.




Jod

Jod

e
i

g-

of. AMEXISE 2MX|7F MAZA[7} ot 7]

bC}

LHofl(23.03.31) MHZEA| XY == AELEQAH|0|2 AFAX}

of

ol
ol
ol
KI
J

ol

shct

= AHO| &2

o

8

4

o2 Al El

=
=

[O{0F St O]

3

o

.

o

UEE.
ELXH, 23 7120| Xt

8. 7|EfAL
A

oK

2= #e

W._

|
il

(OtOI [ Of) 0|

A
=

J1]
uk

)

<

oo
ot

F7ERFHI QXL = 210 A

Ch. MEM &S 519 7| =

7t A<,

4

1
o

o
42

2t 5}t

= =
— T 7

olo
o2

e
ol
U

Ui

Kd

(=13
=1

P

=7

4

3

2 H

]

S MEO| X Solof
o
O

HH,

4

—

e
[s)

Mo

g 5 3y

al

=
=,

AEZE AFY 20F 8 " 7ts g0 et X

F7|92 A7zt Lo 2FAl oj
o

.|

A
A

t

=
z
O ol Al ®efoliAl 8 E[A =XE &= UAS

2
Of.

o

2l Al A=

ol

JH

SHA| X3t

KF

ol
oK
)
K-

ol

A

- AF7(Zh 20233 028 152 (=) ~ 128 312(¥Y)

Of. XA X7+

ol
(OLN

e
ol

ol

10
Ml
xd

X
1ok

50

]
70
ol

: 064-760-2812 (M ZA| AX LXtE| 1}
064-732-0049 (AMTHZEA| STARTUPBAY)

¢ = 2N





